
５９３ ÷ １０００ ＝

５９３ ÷ １００ ＝

（うすい文字は、しっかりなぞりましょう）

５９３ ÷ １０ ＝

0 7 3 6

２  ・５９３を　　　　　　　　 にすることを、式で表しましょう。

7 3 6
７３６ ÷ １０００ ＝

７３６ ÷ １００ ＝

7 3 6

7 3 6

日にち：　　　月　　　日

名まえ

1  ・７３６を　　　　　　　　 にすることを、式で表しましょう。

（うすい文字は、しっかりなぞりましょう）

７３６ ÷ １０ ＝ ７３.６

⑥ 定着

６

.

10 ,
1

100 ,
1

1000

1

.

.

10

1

100

1

1000
1

10

1

10

1

10 ,
1

100 ,
1

1000

1



５９３ ÷ １０００ ＝ ０.５９３

５９３ ÷ １００ ＝ ５.９３

（うすい文字は、しっかりなぞりましょう）

５９３ ÷ １０ ＝ ５９.３

0 7 3 6

２  ・５９３を　　　　　　　　 にすることを、式で表しましょう。

7 3 6
７３６ ÷ １０００ ＝ ０.７３６

７３６ ÷ １００ ＝ ７.３６

7 3 6

7 3 6

日にち：　　　月　　　日

名まえ

1  ・７３６を　　　　　　　　 にすることを、式で表しましょう。

（うすい文字は、しっかりなぞりましょう）

７３６ ÷ １０ ＝ ７３.６

⑥ 定着 答え

６

.

10 ,
1

100 ,
1

1000

1

.

.

10

1

100

1

1000
1

10

1

10

1

10 ,
1

100 ,
1

1000

1


